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Vzorce
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M = (I − Z + E · Ẑ) · M̂ ; N = (I −Q)−1; B = R+Q ·B; B = N ·R; B = (N − I) · N̂−1.

F (z) = ~p(0) · (I − z · P )−1; F (z) = ~p(0) · (s · I −A)−1; ~pn(t) = (λ · t)n

n! · e−λt;
~p(t+ ∆t) = ~p(t) · P (t, t+ ∆t); ~p(t+ ∆t) = ~p(t) · (I +A(t) ·∆t).

p(t+ ∆t) = ~p(t) · P ; p0 = 1− λ

µ
= 1− ρ; P (N > n) = ρn+1; P (N > 0) = ρ = 1− p0; T = n

λ
; T f = T − 1

µ
;

n = ρ · (1− ρ) ·
∞∑
n=1

n · ρn−1; n = ρ

1− ρ = λ

µ− λ
; nf = n− (1− p0) = ρ2

1− ρ = λ2

µ · (µ− λ) ;

pk = λk−1 · λk−2 · · · · · λ1 · λ0

µk · µk−1 · · · · · µ2 · µ1
· p0; p0 = 1

1 +
∞∑
k=1

λk−1·λk−2·····λ1·λ0
µk·µk−1·····µ2·µ1

.

~p(t+ ∆t) = ~p(t) · P ; pn = p0 ·
ρn

n! ; pn = p0 ·
ρn

Sn
· S

S

S! ; p0 =
[
S−1∑
k=0

ρk

k! + ρS

S! ·
1

1− ρ
S

]−1

; n = nf + S − S;

S =
S∑
n=0

(S − n) · p0; S = S − ρ; nf =
∞∑

n=S+1
(n− S) · pn; nf = p0 ·

ρS+1

(S − 1)! ·
1(

1− ρ
S

)2 ;

P (N = S) = p0 ·
ρS

S! ·
1

1− ρ
S

; T f = nf
λ

; T = n

λ
= T f + 1

µ
.

pn =
(
λ

µ

)n
· p0; p0 = 1− ρ

1− ρN+1 ; p0 = 1
N + 1; pn = 0; pn = (1− ρ) · ρn

1− ρN+1 ; pn = 1
N + 1; λ? = λ · (1− pN );

pN = (1− ρ) · ρN

1− ρN+1 = p0 · ρN ; n =
N∑
n=0

n · pn =
ρ ·
[
1− (N + 1) · ρN +N · ρN+1]

(1− ρ) · (1− ρN+1) ; n =
N∑
n=0

n · pn = N

2 ;

nf = n− ρ · (1− ρn)
1− ρN+1 ; T = n

λ?
; T f = nf

λ?
.



pn = 1
n! ·

(
λ

µ

)n
· p0 = p0 ·

(S · ρ)n

n! ; pn = 1
S! · Sn−S ·

(
λ

µ

)n
· p0 = p0 ·

SS · ρn

S! ; T f = nf
λ?

; T = T f + 1
µ

;

p0 =
[
S−1∑
n=0

(S · ρ)n

n! +
N∑
n=S

(S · ρ)n

S! · Sn−S

]−1

; nf =
N∑
n=S

(n− S) · pn;

nf = p0 ·
SS · ρS+1

S! · (1− ρ)2 ·
[
1− ρN−S+1 − (1− ρ) · (N − S + 1) · ρN−S

]
.

pn = p0 · ρn ·
M !

n! · (M − n)! ; pn = 0; p0 =
[
M∑
n=0

ρn · M !
n! · (M − n)!

]−1

; T = n

λ · (M − n) ; T f = nf
λ?

= nf
λ · (M − n) ;

pn = p0 ·
(
λ

µ

)n
·
(
M

n

)
= p0 ·

(
λ

µ

)n
· M !
n! · (M − n)! ;

pn = p0 ·
(
λ

µ

)n
·
(
M

n

)
· n!
S! · Sn−S = p0 ·

(
λ

µ

)n
· M !
S! · Sn−S · (M − n)! ; pn = 0;

p0 =
[
S−1∑
n=0

(
M

n

)
·
(
λ

µ

)n
+

M∑
n=S

(
M

n

)
·
(
λ

µ

)n
· n!
S! · Sn−S

]−1

;

nf = p0 ·

[
S−1∑
n=0

n ·
(
M

n

)
·
(
λ

µ

)n
+

M∑
n=S

n ·
(
M

n

)
·
(
λ

µ

)n
· n!
S! · Sn−S

]
;

nf =
M∑
n=S

(n− S) · pn = n− S + p0 ·
S−1∑
n=0

(S − n) ·
(
M

n

)
·
(
λ

µ

)n
;

pn =
n−1∑
m=0

(p(n−m),m,1 + pm,(n−m),2) = (1− ρ) · ρn; p0 = 1− ρ; T f1 = λ

µ · (µ− λ1) ; T f2 = λ

(µ− λ) · (µ− λ1) ;

n1 =

(
λ1
µ

)
·
(

1 + ρ− λ1
µ

)
1− λ1

µ

; nf1 =
ρ
(
λ1
µ

)
1− λ1

µ

; n2 =

(
λ2
µ

)
·
(

1− λ1
µ + ρ · λ1

µ

)
(1− ρ) ·

(
1− λ1

µ

) ; nf2 =
ρ
(
λ2
µ

)
(1− ρ)

(
1− λ1

µ

) ;


